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Instructions for candidates

s Answer all questions. Each question has only one answer.
e For Part-A, candidate should answer in the same paper by pulting an X mark on the letter
(a), (b), {0}, or {d) which corresponds 1o the correct answer using a blac
o Part-A of the question paper will be collected after the 1st hour of the examination.
1. What does HTTP stand for? (b Application
) . Transport
(a) Hypertext Transfer Processor () 7 pott
. 1} Network
(b) Hypertext Transfer Protocol (d
(c) High Transfer Protocol 5. What is not a valid HTTP method/verb?
(d) Himl Translate Protocol {a) GET
5 (b)y POST
: z {c) EDIT
{a) Univers search List .
(a} Universal Research Lis (d) DELETE
(by Universal Resource List
o 6. What type of data can be transferred using
(¢} Uniform Resource Locator .
‘ HTTP?
(d) Uniform Reading Loader
o (a) Plain Text
3. URL is a pathname where information is . o Lera
(bz Images and Videos
(a) Stored {¢) HTML content
(b) Located (d) Any type of data
¢ 1 . £ S . " . R
(c) tobe transferred 7. Which of the following is not an example
(d) Transterred for HTTP response status code?
4. The HTTP s an oo layer protocol that (a) 200 Ck
allows web-based applications to commiu- (b) 400 Bad Request

nicate and exchange data. v ~ -
e d exchang {¢) 300 Internal Server Error

{a) Presentation {d) None of the above



2.
(d) <p> in
(a) <dtem>
(b} <ol>
{¢y <ul>
10. notavalid data type in JavaScript?
{a} MNumber
/L}\i ot - P 3
(b} Object 17. In Angular, vou can pass data from parent
{c) Boolean component to rffmld component using
{d} Float
1t
{a) Home/About
. (d) Output
(by Home/Main/ld
1 Whi 07 ~ed i i1 ed for i ATIO 1~
(¢) Home/Index 18. ;/**s/h,ch, csqmmu is useq for starting Angu
lar application?
(d) Home/Default
(a) ng build
12. Which of the follo /2“15 development ap-
! L (b} ng profile
proaches are supported in Entity Frame- i
o
yﬂvork? (c) ng lint
(d) ng serve
(2) Code-Firs '
{a) Code-First
. 19. How can you comment using Razor Svn-
(b} Database-First o ’ & ’
tax?
{c) Model-First
) . (a) *@ Comument me *@
(d) All of the above. o
(b) @
13, An instance of ... class represents a (¢) @* Comment me @
session with the underlying database.
ying {(d) *@ Comment me @*
(a) DbContext 20. The Razor View Engine uses to render
{b) DbSet server-side content.
(c) Entity (a) @
(d) DbSession (b) <%= %>
14. Which of the following method of DbCon- (c) BothA & B
text is used to save entities to the database? (d) None
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(bY var {5 = import

H
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Framework?

(a) It reduces a lot of development tim

It auto-generates code for the Model
and mapping code from the datab
|

(&) Views/Home/About

{(b) Views/Hello/About
} View directory

() None of the above
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Which tag is used in adding a row to a |
in HTML?

.
pe

(a) <td>
(b) <th>
(c) <tr>

(d) <row>

26. Which tag is used in adding a column to a

table in HTML?

(a) <td>
(by <th>
{c) <tr>

(d) <row>

27. The element <a></a> is used in HTML to

y
3
ot

28,

{(¢) Division by

{d} All of the above
29, of

Jet MY Y

from data.

(a) Separate HTML

{b) Can use the razor engine to generate
HIML.

(c) Difficult to test the application.

YOU ta; reate

P

{d) Allows

“Search Engine”
friendly i

31. What is the output of the following razor
cod snippet?

@for(var i = 10; 1 < 20; i++0)
{
<p>Line #: @i </p>

{a) Syntax error
(by Print 10 lines
(¢) Print 1 line

(d) None of the above

joN)
ja.]

Which of the following is a correct Attribute
,

(a) Authorize



(¢} margins: 20px 10px Opx Opx;
(d) margins: 10px 20px Opx Opx;
34, W
40. 1
35,
static void Main{(stringl] args)
{
floatr 1
for (£ = 0.1f; £ <= 0.5; £ += 1) 41
Console. Writeldine{ ++1 ):
Console.Readline();
I
(a) 1.1
(by 0.1
{c}y 0102030405 1
{(d) None of the above
36. How to print \\ on the screen?
{a) Console WriteLine{"\\"};
{b)y Console WriteLine("\\\");
(c) Console WriteLine("\\\\");
43

{d) Console.WriteLine("\\ANNNT);
37. MVC stands for

(2) Model, Vision & Control

(b) Model, View & Coniroller

(c) Model, ViewData & Controller

e

method can be
y controller class.

An action
method in a

An Action metho

method ina QOﬂ{fuJai 58

{d} An Action method must be a public
method in a controller class.

T method for an

Partial view

%fa} Hirnl View
Lavout view

Razor view

Which of the following default class is used

to configure all the routes in MVC?

(a)
(b) RegisterRouteConfig
(©
(d)

FiltexConfig
RouteConfig

MVCRoutes

Which s the extension
Nodes files?

used in saving

(a) js
(b) node
(¢) java

(d) ¢
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